2000

2003
2004
1)
22 30,600 20 26,700
26 15,000 23 9,800
34,900 27,000 15,000 12,200
9.400
@)

FOREM SRR Pl 154 (20034F) FERR - 11 -



1]
@ m
o =]
8 ]
49% B a
. ]
L [ |
y = 1.1813x + 11.964
R?=0.2328
120
g4%  0.1% 100 f
il @ 80 YORDE | Se0 &
s 40
20 |
91.5% 0
15 25 35 45 55 65
y = 59164x - 1268.4 Y= 24256x + 41272
2 _ R? = 0.3681
200,000 R” = 0.3621 50,000
150,000 . 40,000
TS 30,000
100,000 .
o * 20,000
0 0
0.00 0.20 0.40 0.60 0.80 0 50 100 150
y = 139.41x + 13829 y = 252.91x + 2519.2
2 _ 2 _
so000 R? = 0.0067 60,000 R? = 0.5479
40000 50,000 L 2
50000 40,000 A
2000 30,000
10000 20,000 S
10,000 e
0 0 L I
0 10 20 30 50 100 150
y = 32976x + 3362.5 y = 487.6x + 7324
2 _ 2 _
60000 R? = 0.1841 20000 R? = 0.1302
50,000 .
40,000 4 20,000 | * L 2
30,000 . : 3 — 5
20000 [ 10000
10000 [
0 L L L 0 ‘ ‘
000 010 020 030 040 050 060

10

20 30

_12_




10 2.6

FOREM SRR Pl 154 (20034F) FERR

75



y = 1.5155x + 13.277 y = 144926x - 1744.1
R? = 0.2558 R? = 0.2185
100 240,000
* 200,000
80 | . ¢ 160,000
L 120,000
60 . * ] 80,000
40 ¢ 40,000
20 * 0
0 0.00 010 020 030 040 050
15 20 25 30 35
y = 749.08x - 2340.1 y = 1403.1x + 14047
R’=0.32 R?=0.1381
200,000 * o 0.3209 200,000
160,000 | *»
120000 | * 150,000
80000 1 YA 100,000
40,000 [ * * !
0 : : 50,000
0 50 100 150 200 0
0 10 20 30 40 50
y = 709.05x - 5773.2 y = 137755x - 1714.2
R? = 0.6128 R? = 0.2197
120,000 160000
140000 2
128888 120000 2
) 100000 |
60,000 80000 ’3’ ‘
40,000 60000 $322.¢
40000
20,000 20000 4
0 0 ; *
0 10 20 30 40 50 60 70 80 90 100 110 0.00 010 020 030 040
y = 1144.6x + 8760.5
R? = 0.2767
100,000
80,000 *
60,000
40,000
20,000
0
0 10 20 30 40 50
@ 13% 1%
m]
o m
§ D
86%

_14_



